924-302

Champion Double Pedestal Direct Bury Table

é

P

o
RRX ):9:9:4 KKK )9 949
)99 KRX )-9:99:9:4 KRXKR
KRX )99 KKRRK )H:9:9:9§
):9:9:4 )-9:9:4 )-9:9.9:0:4 ):9:00:¢

fGround Level

Concrete

[REV. X.01 [SHEET 1 OF 2

k<
=
=
k<
=

72"

e sese teseses

e eseteses
> SC oS SASC ST 5%

TP e e e e e e ey
>
><

TP e e e e e e ey

507/8"

61/4"

10 3/8"

The Best Commercial Outdoor Furniture Available. Period.

-
i
Lu
—
()
a
O
il
i
W
>
1]
i
il




@ 6' Champion Double Pedestal Direct Bury Table 924-302

pd
In Accordance to California law: WARNINGThis product contains a chemical known to the State of
California to cause cancer and birth defects or other reproductive harm.

1. Drill 2 holes in the ground per the drawing on page 1.
2. Place the pedestals in the holes.
3.  Drill plastic out of the mounting holes on the pedestals, top and seats using a 7/16” dia. drill bit.
4. Fasten the table top and seats to the pedestals, support and level table. Check height.
5. When the table is level and secured, fill the holes with concrete to about 2” below ground level.
ITEM NO. | PART NUMBER DESCRIPTION QTY.
1 642-013 Champion Table Top é' 1
2 622-013 Champion Seat/Back é'
3 632-200 2 Pedestal Direct Bury Stand
4 516-058 3/8"x1-1/2" SS Hex Bolt 12
5 516-023 3/8" SS Flat Washer 24
6 516-028 3/8" SS Nylock Nut 12

PREMIER POLYSTEEL

The Best Commercial Outdoor Furniture Available. Period.

(Al N [Rev. X.01 [SHEET 2 OF 2



Cari
Typewritten Text
In Accordance to California law: WARNING This product contains a chemical known to the State of California to cause cancer and birth defects or other reproductive harm.


? 8' Champion Double Pedestal Direct Bury Table 924-502

— 96" —

e e e TV
I
S s aaaaammmmmnne |
_ __ mo
61/4"
| B e |

2 G dlL I l
* ,/— round Leve

7 ;¥Concre’re

627/8"

PREMIER POLYSTEEL

The Best Commercial Outdoor Furniture Available. Period.

(Al ) [Rev. X.01 [SHEET 1 OF 2




8' Champion Double Pedestal Direct Bury Table 924-502

In  Accordance to California law: WARNINGThis product contains a chemical known to the State of
California to cause cancer and birth defects or other reproductive harm.
1. Drill 2 holes in the ground per the drawing on sheet 1.
2. Place the pedestals in the holes.
3.  Drill plastic out of the mounting holes on the pedestals, top and seats using a 7/16” dia. drill bit.
4. Fasten the table top and seats to the pedestals, support and level table. Check height.
5.  When the table is level and secured, fill the holes with concrete to about 2” below ground level.

ITEM NO. | PART NUMBER DESCRIPTION QTY.
1 642-015 8' Champion Table Top 1
2 622-015 8' Champion Seat/Back
3 632-200 2 Pedestal Direct Bury Stand
4 516-058 3/8"x1-1/2" SS Hex Bolt 12
5 516-023 3/8"SS Flat Washer 24
6 516-028 3/8" SS Nylock Nut 12

PREMIER POLYSTEEL

The Best Commercial Outdoor Furniture Available. Period.

[REV. X.01 [SHEET 2 OF 2



Cari
Typewritten Text
In Accordance to California law: WARNING This product contains a chemical known to the State of California to cause cancer and birth defects or other reproductive harm.


-306

924

Champion Multi-Pedestal Direct Bury

6

P

52 1/2"

¥

|y

N
~
N
~O
[®) o
— ™
KR - 0:0:0:9:0:0:9:0:9:0:9:9:0:0:09:
XRX XOUOUOUOUOUOUOU
)-4:4 XOUUUOUUGOUUGUOUCK )-4:4
90004
JOUUCKR XUUUC
XRX XOUOUOUOUOOOUOO XRX
)-4:4 OUUGOUUGOUUGUOUCK )-4:4
XRX XOUOUOUOUOOOUOO XRX
JOUOK OUUGOUUGOUUGUOUCK )-4:4
XRX XOUOUOUOUOOOUOO XRX
LA A A.A.A.014.4.00A.A.04A.4
OUOUOUCDOOOOOCN
JOUOK OUUGOUUGOUUGUOUCK )-4:4
XRX XOUOUOUOUOOOUOO XRX
= JOUOK OUUGOUUKOUUGUOUCK )94
N XRX OUX RRANRK KRR
N JOUOK OUUGOUUIOUUGUOUCK )-4:4
XRX XOUOUOUOUOOOUOO XRX
JOUOK )-4:4
-0 -0
):9:00:0:¢ ):9:4
XRX XRX
JOUOK )-4:4
XRX XOUOUOUOUOOOUOO XRX
JOUOK OUUGOUUGOUUGUOUCK )-4:4
XRX XOUOUOUOUOOOUOO XRX
XUUOGODOC
)-4:4 XUUOOUOUCK )-4:4
XRX XOUOUOUOUOUOUOU XRX
UAAMARRAVARANARRAAR AN

61/4"

-
i
Lu
—
()
a
O
il
i
W
>
1]
i
il

T
9
[
]
o
[
a
]
T
>
<
]
9
3
L]
c
<
=)
L
<
0
0
o
ILl
J
o
e
0
[
]
£
£
0
0
it
1]
]
m
]
£
=

[REV. X.01 [SHEET 1 OF 2




@ 6' Champion Multi-Pedestal Direct Bury 924-306

1. Drill 6 holes in the ground per the drawing on page 1.
2.  Place the pedestals in the holes.
3.  Dirill plastic out of the mounting holes on the pedestals, top and seats using a 7/16” dia. drill bit.
4. Fasten the table top to the pedestals, support and level table top. Check height.
5. Fasten the seats to the pedestals, support and level seats. Check height.
6. When the seats and top are level and secured fill the holes with concrete to about 2” below
ground level.
In Accordance to California law: WARNING This product contains a chemical known to the State of California to cause cancer and birth defects or other
reproductive harm.
ITEM NO. | PART NUMBER DESCRIPTION QTY.
1 642-013 Champion Table Top é' 1
2 622-013 Champion Seat/Back é'
3 630-081 Seat Pedestal
4 630-080 Table Pedestal 2
5 516-058 3/8"x1-1/2" SS Hex Bolt 12
6 516-023 3/8" SS Flat Washer 24
7 516-028 3/8" SS Nylock Nut 12

PREMIER POLYSTEEL

The Best Commercial Outdoor Furniture Available. Period.

[REV. X.01 [SHEET 2 OF 2




924-3P6

6' CHAMPION TABLE TOP

00000
00000
o

oo
[ X+}
00000000

-
3
§oooooooooo
0000000000
odoooocooooo0

000000000

000000000000

o o

o o

000000000 o
b00000000000P000000000000

b00000000000VD0O0000000000

o
o
#OOOOOOOOOOOOOOOOOOOOOOOO

000000 0OODO0O0O00000000V0O0O0000000000

]

}OOOOOOOOOOOOOOOOOOOOO
000000000000 000000C0000
0000000000000000000000
00000000000 0C0O000000QG0O0O00
0000000000000 000000000
OOOOOOOOOOP%OOOOOOOOO
o0o0go 00000000
—— e B
=y sl =
000000000ROICHO000000000
00000000%00000000
0000000000000 000000000
0000000000000 000000000
59000000000/00000000000
00000000000_00000000000
00000000000_00000000000
OOOOOOOOOOO_OOOOOOOOOOO
OOOOOOOOOOO_OOOOOOOOOOO
cooooooooooloooooocoooo
oooo0ooo0o000o0loooooocooo000
B A e et
0000000000000 00O000000O0
00000000000 I0OO0OO0O0O000O0O00
0000000000000 000000000
000000000000 0000000000
00000000000"00000000000

00000000000l00000000000
00000000000/C0000000000
_IPPPE-UbbbEDPPPPOEI_
00000000000 OCO000000CO0000
0000000000QOO0000000000
0000000000QO00000000000
00000000000—00000000000
000000C0000Q0Q000000Q0000
OOOOOOOOOOWOOOOOOOOOOO
000000000000 000000O0000
OOOOOOOOOOO—OOOOOOOOOOO
OOOOOOOOOOO—OOOOOOOOOOO
0co00000c00000lboooo000c0000
ooooocoooooloooooococooo00
00000000 CCRIEEWO0O000000
OOOOOOOOOI‘\QO 000000000
[ 500000%00 80 Nmm%ﬁonodadn_
0000000000 0000000000
00000000000 0C0O000000QG0O0O00
0000000000000 000000000
0000000000000 00000O0000

0000000000000000000000
0000000000000 000000000

l.

0000000
0000000
00000000
00000000
0000000
000
000

—
g

[eXe Te]
an
OOOOOOOOOOOO§
ol

o
o

000
000

00000000
00000000

#

[oloke]
[e]=hel
000

0000000000000 00000000000
00000
00000

b0o000D00O00OO0DPOOOOOOOOO0O0O
0000
0000

I
00

lbooooooooo

0000000000000 POOO000000000
b

000000000000 00000000C00

-
00000

]

]

OJ_

000000
000000

o @
Y Qo

62 1/2"

i
S~
Ne)
2 -
HI“V N
_ N =~
\ N
J ¥e)
lA—u
S~
o)
N
‘|HO|'
™
r_l||
©
>
)
—l
o]
S o X
(@)
e}
3 n

10"

is greater.

, which ever

INe IN your aread

The holes should be 30" deep or below the frost |

o
9
c
]
1

[
o
[
T
>
q
0
<
3
2
c
<
3
B
3
[}
0
T
2
3
o
0
0
<
0
£
£
0
o0
2
0
0
]
0
£
=

[REV. X.01 [SHEET 1 OF 2




6' CHAMPION TABLE TOP 924-3P4

DETAIL A DETAIL B
SCALET1:8 SCALE1:8

1. Drill 6 holes in the ground as per the sketch on page 1.
2. Place the pedestals in the holes.
3.  Drill plastic out of the mounting holes on the pedestals, top and seats using a 7/16" dia. drill bit.
4, Fasten the table top to the pedestals, support and level table top. Check height.
S. When the seats and top are level and secured fill the holes with concrete to approx. 2" below
ground level.
ITEM NO. PART NUMBER DESCRIPTION QTY.
] 642-PT3 6' CHAMPION TABLE TOP 1
2 630-080 TABLE PEDESTAL 2
In accordance to California law: .
WARNING- This product contains 3 622-0P3 CHAMPION 6é' SETA/BACK 2
a chemical known to the State of 4 516-058 3/8"x1-1/2" SS Hex Bolt 12
California to cause cancer and
birth defects or other 5 516-023 3/8"SS Flat Washer 24
reproductive harm. 6 630-081 SEAT PEDESTAL 4
7 516-028 3/8" SS Nylock Nut 4

2%

x i

X5
%\ x>
Ly

£
x

PREMIER POLYSTEEL #hR

The Best Commercial Outdoor Furniture Available. Period.

.....

(Al [Rev. X.01 [SHEET 2 OF 2



Cari
Typewritten Text
In accordance to California law: WARNING - This product contains a chemical known to the State of California to cause cancer and birth defects or other reproductive harm.

cari
Typewritten Text


924-506

Champion Multi-Pedestal Direct Bury

8

P

96"

:

[

.|
NV

26 1/4=—=—=-261/4"

~—— 52 1/2" ——

T

—

‘¥ConcreTe

62 3/4"

N
S~
AN
O
O |- O
— ™
K KARAKAARARR
KK RRARKKAKKA
):0:9:9:4 ) § KRRARKARKR KRR
RRARA KR KARRARRARRA KR
):0:9:9:4 ) § KRRARKARKR KRR
RRRK KRRARARRRRARRARKA KR
KARRR
KRRRRK
KARAR K RRRAARRARR KRRR
KRAR AR RRARKKARKA AR
KRAKRK X KRRAARKARR KRAR
KRAR AR RRARKKARKA AR
4:9:9:4 K KRAARKARKA KKAK
NN N NNWNNWY
K RRAAAARARR
) 9:9:4 4 )4 0 0:0:0:9:9:0:4:9:¢ AKX
KARAR K RRRAARRARR KRARR
RRRK KR 00 0:0:0:9:9:9:0: KR
KARAR K RRRAARRARR KRARR
RRRK KR 00 0:0:0:9:9:9:0: KR
KARAR RRRARRR KRARR
— —— NNNNNNN ——
RKRAAR RKRAARKA RKAR
)9:9:9:¢ KR KARRKRRARRK KR
RKRAAR K KARAARKARKA RKAR
KRAK KK RRARRKKAKKA AKX
):0:9:9:4 ) § KRAARKARRR KRR
RRARA KR
VYWYV ) YYYY
RRRK KR
KARAR KRARR
RRRK KR
KARAR K RRRAARRARR KRARR
RRRK KRRARARRARARRARKA KR
KARAR K RRRAAARRAR KRARR
KKARKA
) 9:9:4 4 KRRAKKARRARKKARRA AKX
KARAR K RARARRRARARAR KARR
) 9:9:4 4 KRRAKKARRARKKARRA AKX
KARAR K KRRAKRRARARAR KRARR
RRRK KRRARARRRRARRARKA KR
QOCUUCROCOORN = NGRS
<
” |
O

The Best Commercial Outdoor Furniture Available. Period.

- 10"

[REV. X.01 [SHEET 1 OF 2




8' Champion Multi-Pedestal Direct Bury 924-506

é/
In Accordance to California law: WARNINGThis product contains a chemical known to the State of
California to cause cancer and birth defects or other reproductive harm.

OaRwWN=

Drill 6 holes in the ground per the drawing on sheet 1.

Place the pedestals in the holes.

Drill plastic out of the mounting holes on the pedestals, top and seats using a 7/16” dia. drill bit.
Fasten the table top to the pedestals, support and level table top. Check height.

Fasten the seats to the pedestals, support and level seats. Check height.

When the seats and top are level and secured fill the holes with concrete to about 2” below
ground level.

ITEM NO. | PART NUMBER DESCRIPTION QTY.
1 642-015 8' Champion Table Top ]
2 622-015 8' Champion Seat/Back
3 630-081 Seat Pedestal
4 630-080 Table Pedestal 2
5 516-058 3/8"x1-1/2" SS Hex Bolt 12
6 516-023 3/8" SS Flat Washer 24
7 516-028 3/8" SS Nylock Nut 12

00 PREMIER POLYSTEEL

The Best Commercial Outdoor Furniture Available. Period.

[REV. X.01 [SHEET 2 OF 2



Cari
Typewritten Text
In Accordance to California law: WARNING This product contains a chemical known to the State of California to cause cancer and birth defects or other reproductive harm.


924-108

N

638-025 638-012

N
638-020 = ‘
L~
: ]
~L
Part No. Description Qty.
642-011A 4> Champion Table 1Ped 1
622-011A 4’ Champion Seat 1 Ped 2
638-020 6” Pedestal DB 1
638-011 Seat Support Arm 2
638-012 Table Top Arm 1
638-025 Seat Arm 2
516-023 3/8” SS Flat Washer 40
516-028 3/8” SS Nylock Nut 20
516-059 3/8” x 2-1/2” SS Hex Head Bolt 12
516-058 3/8” x 1-1/2” SS Hex Head Bolt 8
516-051 1/2” x 9” SS Hex Bolt 4
516-036 1/2” SS Nylock Nut 4
516-027 1/2” SS Washer 1.25” OD 8
Periodic check of bolt tightness recommended. Table Top and Seats not shown

PREMIER POLYSTEEL

The Best Commercial Outdoor Furniture Available. Period.




In  Accordance
cause cancer

A WN =

9}

924-108 Single Pedestal Direct Bury 4° Champion Table

Bore a 12-14” diameter hole 36” into the ground.

Place 4-6” of pea rock in the hole.

Place center pedestal post into the hole.

Drill out the holes in the center pedestal and the seat arm mounting plate with a 1/2” drill
bit.

Drill out all other holes with a 7/16” drill bit.

Bolt the seat arms to the center pedestal using four 1/2” x 9” stainless steel hex bolts,
eight 1/2” stainless steel washers and four 1/2” stainless steel nylock hex nuts.

Bolt seat supports on to the seat arms using four 3/87x2-1/2” stainless steel hex bolts,
eight stainless washers and four 3/8% stainless steel nylock hex nuts.

Bolt table top support on to the center pedestal post using four 3/87x2-1/2” stainless steel
hex bolts, eight stainless steel washers and four stainless steel nylock hex nuts.

Bolt the table top on to the table top support using four 3/8”x1-1/2” stainless steel hex
bolts, eight stainless steel washers and four stainless steel nylock hex nuts.

10 Bolt the seats on to the seat supports using two 3/87x1-1/2” stainless steel hex bolts, four

stainless steel washers and two stainless steel nylock hex nuts.

11 Level table and adjust to desired height. Recommended height is 20” from the ground to

the top of the seats.

12 Fill hole with concrete no higher than ground level.

to California law: WARNINGThis product contains a chemical known to the State of California
and birth  defects or other reproductive harm.

to


Cari
Typewritten Text
In Accordance to California law: WARNING This product contains a chemical known to the State of California to cause cancer and birth defects or other reproductive harm.


638-021

924-308

28

638-025

>N

638-022

638-020 /
L
. 4
~L
Description Qty.
6’ Champion Table 1Ped 1
6’ Champion Seat 1 Ped 2
6” Pedestal DB 1
Seat Support Arm 2
Table Top Arm 1
Seat Arm 2
3/8” SS Flat Washer 40
3/8” SS Nylock Nut 20
3/8” x 2-1/2” SS Hex Head Bolt 12
3/8” x 1-1/2” SS Hex Head Bolt 8
1/2” x 9” SS Hex Bolt 4
1/2” SS Nylock Nut 4
1/2” SS Washer 1.25” OD 8

Periodic check of bolt tightness recommended.

Table Top and Seats not shown.

)} PREMIER POLYSTEEL

The Best Commercial Outdoor Furniture Available. Period.



924-308 Single Pedestal Direct Bury 6° Champion Table

Bore a 12-14” diameter hole 36” into the ground.

Place 4-6” of pea rock in the hole.

Place center pedestal post into the hole.

Drill out the holes in the center pedestal and the seat arm mounting plate with a 1/2” drill

bit.

Drill out all other holes with a 7/16” drill bit.

6 Bolt the seat arms to the center pedestal using four 1/2” x 9” stainless steel hex bolts,
eight 1/2” stainless steel washers and four 1/2” stainless steel nylock hex nuts.

7 Bolt seat supports on to the seat arms using four 3/8”x2-1/2” stainless steel hex bolts,
eight stainless washers and four 3/8* stainless steel nylock hex nuts.

8 Bolt table top support on to the center pedestal post using four 3/87x2-1/2” stainless steel
hex bolts, eight stainless steel washers and four stainless steel nylock hex nuts.

9 Bolt the table top on to the table top support using four 3/8”x1-1/2” stainless steel hex
bolts, eight stainless steel washers and four stainless steel nylock hex nuts.

10 Bolt the seats on to the seat supports using two 3/8”x1-1/2” stainless steel hex bolts, four
stainless steel washers and two stainless steel nylock hex nuts.

11 Level table and adjust to desired height. Recommended height is 20” from the ground to
the top of the seats.

12 Fill hole with concrete no higher than ground level.

AW N —

(V)]

In Accordance to California law: WARNINGThis product contains a chemical known to the State of California
cause cancer and birth defects or other reproductive harm.



Cari
Typewritten Text
In Accordance to California law: WARNING This product contains a chemical known to the State of California to cause cancer and birth defects or other reproductive harm.


	924_DPDB
	924-302
	Sheet1
	Drawing View1
	Drawing View2
	Drawing View3

	Sheet2
	Drawing View4


	924-502
	Sheet1
	Drawing View1
	Drawing View2
	Drawing View3

	Sheet2
	Drawing View4



	924_MPDB
	924-306
	Sheet1
	Drawing View1
	Drawing View2
	Drawing View3

	Sheet2
	Drawing View4


	924-3P6
	Sheet1
	Drawing View1
	Drawing View5
	Drawing View6

	Sheet2
	Drawing View2
	Detail View A (1 : 8)
	Detail View B (1 : 8)


	924-506
	Sheet1
	Drawing View1
	Drawing View2
	Drawing View3

	Sheet2
	Drawing View4



	924_SPDB
	924-108
	924-308




